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In order to study hard scatteringprocessesin
Pb+Pbcollisionsat theLHC, theALICE-USA Col-
laborationis proposingto build a largeareaelectro-
magneticcalorimeter(EMCal) for theALICE exper-
iment. Thecombinationof anEMCal andthetrack-
ing systems(TPC+ ITS + vertex constraint)of AL-
ICE appearsto beanalmostidealdetectorfor study-
ing jets,which areconsideredto beanessentialtool
to study partonpropagation throughdensenuclear
matter.

Detailedsimulationsof theEMCalplusTPC+ITS
responseto

�
sNN=5.5 TeV Pythia jet-triggered

events superposedon a Hijing Pb+Pbbackground
have beenperformed. A modified UA1 JetFinder
algorithm[1]hasbeenusedto reconstructjets.

Fig. 1 shows a 100GeV jet observableabove the
softhadronicbackgroundin acentralPb+Pbeventat�

sNN=5.5TeV.
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Figure1: A jet with ET =100GeV standsout against
thesoft hadronicbackground.

Ratecalculationsfor oneALICE-year(30days)of
Pb+Pbrunningshow that therearesufficient statis-

tics to study jets of up to ET � 250 GeV. By com-
bining the tracking information from the TPC+ITS
with EMCal energy measurements,the fragmenta-
tion functionsof hardscatteredpartonsmaybestud-
ied in detail.

Fig. 2 shows thepT spectrumof chargedparticles
measuredin simulatedPb+Pbeventswith the AL-
ICE trackingsystem.Theblackhistogramrepresents
particlescomingfrom jet fragmentation,whereasthe
redhistogramcorrespondsto thesofthadronicback-
ground. Clearly, as the jet ET increases,the soft
backgroundcontributionbecomeslesssignificant.
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Figure2: JetconsituentpT distributionsasafunction
of jet ET .
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